ansgrone

ZHIEIRES et Sl 2

AN Instructions for use / assembly instructions 3

HARAEG

Metris Metris Novus Novus W ME AN
31493007 31685007 71045007 71065007 PuraVida PuraVida

EEEEG

15445407
Metris S  Metris S Metris Metris Metris S Metris Metris S Talis

14437007 14637007 31454007 31456007 31465007 Classic 31665007  Classic
31485007 14145007

@
’(io

Talis S Talis E Talis S Talis S Logis E Logis Logis E Logis
32475007 71745007 72605007 72405007 71404007 71405007 71603007 71605007

FRGE QG

Metropol  Metropol  Metropol  Metropol  Metropol Focus Focus
Classic Classic 32565007 32545007 74545007 31965007 31945007

31345007 31365007

31345097 31365097




3L

.

/N w4t
ViN gﬁﬂﬂﬂ%ﬁ%ﬁﬁfnw%ﬁ%, PVZIL e

A %Fﬁﬁﬁf’ﬁﬂiﬁﬁﬁﬁi D7k R TN

A B POR K T LT

BRGE

o TERHDLAS AL R I 2 Bls i, %
JE K AN TN T 3 i 0 s i 45 4

. ;ﬁgﬁﬂﬂ%@ﬁ*ﬁﬁﬁﬁ%ﬁﬁi&ﬁﬁ% ik

o TERESY U E R BT LR

a5
« WA QBRI RE |

AN s B
SRR, ARG R AGAE
WAL KA.

KA W B

WA EHE
R [
D HERDE IR

AR SH @ WHEEE (R
T AR BK 1 MPa
et TR 0,1 -0,5 MPa B s D
Py ARGHH 1,6 MPa
(1 MPa = 10 bar = 147 PSI) S (5 [
mﬂ(iﬂfg: Eﬂij( 70°C @ ﬁ%% (/ JLJ;"’SJJ\ E)
HetE POKIRFE: 65°C
P ik 70°C/ 45 O BEM (BIHT )
Y= ik R K ! © ST
(ORAEHEBTE R 1Y)
ks engr @
Py #13597000, #13595000, #13596000,
u@ #13597000, #13593000
i J51 JE bR
A RE -, 458 —H 3R
JE 3Kk — IR — B 3R
PUKIRERAR, BAEK, BHF _—BokEh sk s R % B ok el g
Bk, Pk g -3 LA —H RS
TR A TAE -JiA T I it / 4O E Ll
-k AR =B mAK
SRR T ZIAE7N —H AT
L= ¥ s EH A



English

A Safety Notes

/N Gloves should be worn during installation to prevent
crushing and cutting injuries.

/N The product may not be used as a holding handle. A
separate handle must be installed.

/N The hot and cold supplies must be of equal
pressures.

Installation Instructions

Prior to installation, inspect the product for transport
damages. After it has been installed, no transport or
surface damage will be honoured.

The pipes and the fixture must be installed, flushed
and tested as per the applicable standards.

The plumbing codes applicable in the respective
countries must be oberserved.

Technical Data

Operating pressure: max. 1 MPa
Recommended operating pressure: 0,1-0,5 MPa
Test pressure: 1,6 MPa
(1 MPa = 10 bar = 147 PS|)

Hot water temperature: max. 70°C
Recommended hot water temp.: 65°C

Thermal disinfection: max. 70°C / 4 min

The product is exclusively designed for drinking water!

Fault Cause

Symbol description

« Do not use silicone containing acetic acid!

Adjustment (see page fi)

To adjust the hot water limiter. Using a
hot water limiter in combination with
a continuous flow water heater is not
recommended.

Dimensions (see page ﬂ)

Flow diagram

(see page [[d)

@ Shower outlet (free flow))
@ Tub outlet free flow)

Operation (see page [)
Cleaning (see page E}
Spare parts (see page [4)

Special accessories

(order as an extra)

extension (see page E)

#13597000, #13595000, #13596000,
#13597000, #13593000

o

Remedy

Mixer stiff

- Cartridge defective, calcified

- Exchange cartridge

Mixer dripping

- Cartridge defective

- Exchange cartridge

Hot water temperature too low, no

- Hot water limiter incorrectly set

- Set hot water limiter

cold water. Instantaneous water - Crossflow - Exchange cartridge

heater starts up when cold water is

selected.

Diverter not operating - Residue - Clean converter / grease O-rings

- Water pressure to low

- Increase water pressure

- Diverter defective

=

- Exchange diverter

Assembly see page fi









43°C 55°C




Metris S
14437007
<5280 %
Np 15

BN 7\—T
QL )
3

i & 7\\\

x 1
46 6-9 4p| J
¢ 93-121
Metropol Classic
31345007 / 31345097

I—»47-75
o ¥ &6
i)

PR

— 82
116

€77-105
4-106-134

Metris S
31465007

4’
~
N —pf
S
L2

—j

@ 150
l— 74 >

€63-9 1M J
4 93-121

WM PuraVida
15445007 / 15445407

P t;ﬂ %24

——155/155

52-80
15

.

109
17

\

v

Metris

31454007
<P5

155 /155
t?ﬂﬂ 2

L

Metris

\
\
\
AR
A

66 - 9414
€ 94-122

€ 105-133

31493007

—p

EpME PuraVida
15665407

54—

—

le——155/155
ETR

66-94 14—
€ 94-125

Metris
31456007

r—155/155—>
@ 44
o | i

€ 105-133

Metris
31685007

AN}

o

<75-103J
€105 - 133-pf

RN



7

Metris Classic 31485007 Focus 31945007 Talis Classic
14145007
I M 4775 —»{52- 8014 <—P{52 - 80/¢—
QP [¢16 N 15 g+15«
1 o &
011 gt g TF
~Ny = pLE BN o
Q < - ~ ™ I\L "
ivi &iv i:rr E
S ~ -
.l S el e
o i i
™ "‘
2 100 —»{80-108 & —»{66 -QA«J
4102 - 130 4-108-136 €4 92-120
Talis S 32475007 Metropol Logis E 71404007
32545007 / 74545007
—»{52:80 [4— {5280 |4 —»
~<
N —p ¢ 15 §+ 15 Q
RS S QM &
L 2 v [ a—
2 . 3% 25 ]
- v S N v - ¢ L"i
S ©y 2 s
~ } 11 \
1SS l % \\\\\ e
D A \\\ & 3
: i\l :
“» 7199 ¥ | 46795
457 - 85M 4—106-134
€ 94-122 4 93121
Logis 71405007 Talis E 71745007 Talis S 72405007
—»52-80 —»52-80 < 5280/
N 1K N 1K Ny 15
Q— 8 — )
T v | T v T v
's]
sTE sl A
NN NS & o -N i
['e) v g
)
2v I eI 5 i 3
S S T
Ny 2 =
v N v
: 1 .
* ] 5087l —fb
4—88-116




Metris S 14637007

g ade

— @ 150

<4 93-121

Focus 31965007

—Hll S

P

— @ 150 —»

—»80 - 108 k

Logis 71605007

v
f

«— 155/ 155 —»
ﬂ@zm%

Metropol Classic
31365007 / 31365097
16

@ 170
ﬂzme
v

Metropol
32565007

—pfise—

-

156/156—P
174 ﬂasmsﬁ
AV
Cd
ot
95

[456-84 P
4 92-120

Talis § 72605007

@ 150 —p
¢ mz 44#

69-97L

€92 - 120

Metris S 31665007

—» 15

¢— @150 —P»

ﬂ@m&

i B
x\
€63 -91

€ 93-121

Logis E 71603007

4—106-134

Novus 71045007

~—P49-77
o~

®4>15

€ 82-110 M
— 116-144



RN

Novus 71065007

—Pfisle—

t
T

¢— T 150 —P

€ 82-110
— 116-144

Metris S 14437007
EME PuraVida 15445007 / 15445407
Metropol Classic 31435007 / 31435097
Metris 31454007
Metris S 31465007
Metris Classic 31485007
Metris 31493007
Focus 31945007
Talis Classic 14145007
Talis S 32475007
Metropol 32545007
Logis E 71404007
Logis 71405007
Talis E 71745007
Talis S 72405007
Metropol 74545007
Novus 71045007
0,60 6,0
e O
0,50 D /=2
0,45
0,40 //
, 035
S 030
= 0,25 . /:
0,20 A
st LA
o101 A .
0,05 ] .
0,00 . :

Q=I/mn0 6 12 18 24 30 36 42 48

Q=I/sec O 0,2

10

0,4 0,6 0,8

Metris S 14637007

WHME PuraVida 15665407

Metris 31456007

Metropol Classic 31365007 /31365097

Metris S 31665007

Metris 31685007

Focus 31965007

Metropol 32565007

Logis E 71603007

Logis 71605007

Talis S 72605007

Novus 71065007
0,60 6,0
0,55 55
0,50 50
045 45
0,40 // 4,0
0,35 35

€ 030 ./ 308
0,25 . 2,5
0,20 2,0
0,15 // . 15
0,10 — : 10
0,05 . 05
0,00 : 0,0
Q=I/min0 6 12 18 24 30 36 42 48
Q-=I/sec O 02 04 0,6 0,8






3

N

DUITREHE ™ b B 5 0 B

B it ek, Jobps Jesk, BN, ROPF. G
. AT R I PR R 5, DLd
S 7= AN BE VAL I RE R Tl K.

T AR A D BE T IR BBV B, 2
A TR 3 7 b s SR 0 AT S LR

TEPRIF DUDTREAE ™ dh vk, J5 00 b o i 5
o HUARGE AR LA W AR W28 FH T A9 i 9 T

.

s AAVFESTAEIR, BOR, AE BRI
TR, PR b ik BB 3 R 24 7 o o T 1 ™ L Y
#ibi.

o T WRRR AT TR AL AR R A2 A R 6.

o ASCVRRE PR DL L 3 R R (.

o AAVRTEADHEE KR TEM S, W
AEFHFEWRA, Rl a2 s,

o WA RS T ST I A )R G .

o JURE R ST I R 0 R IS ), RS AT
T AR IS )R T LA

o RE I i LA 2K .

o A SCVERE T 0 L St 2 DU s E= b b, 1A
SR 55 2 I A DU HE 7 il S T 11 38R AN B o
T SR . TR T R A b, AR
A AT

* W20 DA S KK b Y, AR LBRER
B MR BT IR ) .

o RAVFHHZGIEVENL, Rl 205 ™ .

12

Y]
MER, Peiok, IR, Bk, Aok, BIEK,
P 0 P 5 B A1 2 X 77 i s A4

BRAL: i BN Co b KK R AR T ah P T v

[RUREAE ™ iy T 07 AP ORI A= 25 b, 0
AN BT O AT DR A AL DEAR P 75 W R R e
PR .
A CL 28400400 FA 2 T ARS8 P 495 2 4 2 T i BB
K54
AT TR PE U0, 5 W2 AT 2
MR

R AT T TR A AT AR A A 2 ) 7
m B Z .
QuickClean

A T QuickClean, FTi57kheiE, Lhqimisk L
AR, R bR Ry,

i

Hansgrohe [i] I fRIE, %)™ maihilid SepE. g
A2 HR AR IR B, Hansgrohe K6 7%
HeBR.,  PRUESSAEFIE 7 W www.hansgrohe-int.com/
guarantee,  TEHE HHAEIAURIRE IR R AW 5
Ji. AR R KA EZK A E T T



English

Cleaning Recommendation for
Hansgrohe Products

Today, modern sanitary and kitchen tapware, showers,
accessories, washstands, tubs and radiators consist of
very different materials to comply with the needs of the
market with regard to design and functionality.

To avoid damage and reclamations, it is necessary to
consider certain criteria when cleaning.

With regard to caring for the
Hansgrohe products, the following
must in principle be heeded:

* Only use cleaning material which is explicitly provided
for this type of application.

Never use cleaning materials, which contain
hydrochloric acid, formic acid, chlorine pale lye or
acetic acid, as they cause considerable damage.

¢ Phosphorus acidic cleaners are only conditionally applicable.

Mixing cleaning agents is not permitted, generally.

Never use cleaning materials or appliances with an
abrasive effect, such as unsuitable cleaning powders,
sponge pads or micro fibre cloths.

The instructions of the cleaning agent manufacturers
have to be followed absolutely.

Cleaning has to be carried out with a specified cleaner
dosage, contact time, objectrelated and adapted o the needs.

The building up of calcifications has to be removed by
cleaning regulary.

* When using spray cleaners, spray the cleaning solution onto
a soft cloth or sponge, never directly onto the Hansgrohe
products, as the atomised spray could enter openings and
gaps in the Hansgrohe products and cause damage.

N

* After cleaning rinse thoroughly with clean water to
remove any cleaner residue.

* The use of steam cleaners is not permitted. The high
temperatures can damage the products.

Important

Residues of toiletries such as liquid soaps, shampoos and

shower gels, hair dyes, perfumes, aftershave and nail

varnish can also cause damage.

Here too: Carefully rinse with water after use to remove residues.

Likewise, do not store any cleaning agents or chemicals
under the products, for example in a vanity unit, as the
vapours may damage the products.

The damage of already damaged surfaces will
deteriorate under the effect of the cleansers.

A must be exchanged, otherwise there
could be an injury danger.

Damage caused by improper treatment will not be
covered by our guarantee.

QuickClean

The QuickClean cleaning function only needs a small
manual rub over to remove the lime scale from the spray
channels.

Components with damaged surfaces

Warranty

Hansgrohe guarantees to the consumer that this product is free
of production faults. If evertheless any defect is detected within
5 years from date of purchase, Hansgrohe will remedy this
defect free of charge. You will find the conditions and details
of this guarantee at www.hansgrohe-int.com/guarantee.
Please contact your contracting party to claim your rights
under this guarantee. This guarantee does not affect the
customer’s rights under the respective national legislation.

13



e
Adle

Talis Classic 14145007 / Metris S 14437007 / Metris 31493007 / Focus 31945007 / Talis S 72405007 /
Metris S 31465007 / Talis S 32475007

98133000 98199000
/"‘ J

(17x2)
92602000
(20x2,5) . )
96338000 \
98400000 b// 9633800
(39x1,5)
14193000
96525000 98793000  Talis Classic 2551?000
(D145 mm) etris
(M5x20) 95008000 Metris o
72730000 98142000 (M4x10)
95140000 (23x3) SW 2 mm
(M4x20) 98796000 98794000 / 28791000
SW 38 mm (@ 150 mm)

98433000 "
96338000 (30x1,5) ,
o8 532000 , 96454000 0
Focus ? (M5x55) 98790000

96338000
9264400 9841 8000
Talis S 96338000 (43x3)
OOO

98795000

31 ogsooo 96338 96638000~
Metris S 32096000 97788000
Talis S Metris S

Metris S 14637007 / Focus 31965007 / Talis § 72605007 / Metris S 31665007 / Metris 31685007

E é s
95008000 96338000 %
/ OOO 96338000

b %nJa 98400000 32096000 96338
98133000 & (39x1.5) Talis § 98532000 31093000
(16x2) x4 08793000 Focus Metris S

(D 145 mm)
96525000

(Mox20) 92730000
95140000 / s
(M4x20) Zg{ggooo s § 05418000 78
m 4 (43x3) 95519000
98433000 i’ Metris
(30x1,5) )’
> ] 2 96454000 98790000
Al \(M5x55)
13597000 % T 97747000
(@150 mm ¢ 98792000
22 mm) | ® (M5x45)
13595000 SW 4 mm 97788000 96338000

14 (25 mm) Metris S



Metropol Classic 31345007 / 31345097 / Metris Classic 31485007

95014000

SW 15 mm 98199000
(17x2)
95008000 92602000 o

/ & (20x2,5) \
98133000 \ / 98796000 %msoy
SW 38 mm
(16x2) 8 /

98793000 31294000
94073000 (@145mm)  Metris Classic
96525000

(M5x20)

92730000

I

95140000
(M4x20) 98400000
(39x1,5) O
2938(;13]350)00 %, 98795000
x1, R -

96454000
(M5x55) 98790000
Metropol Classic 31365007 / 31365097

p (Z @
@ @0 96525000 g
00 . (43x3)
95410000 o
$2730000 (@ 170 mm)
98400000 97667000
(39x1,5) 96338000
98]3300(;% / (;\;\;1)2(1 0
(16x2) 95006000 P, @ / mrgzswooo (31345007)
94073000 95140600 @ 96454000 92817090 (31345097)
WA ‘ / </ Metropol Classic
98796000 19 1 98418000
SW 38 mm | o, (43x3)
98433000 <\ J 7
(30x1,5) %% %

98793000
(D 145 mm) 98790000

97747000
\
T (M5x45) 95412000 96338000
13596000 N\ — 13595000 SW 4 mm (@ 170 mm)
(@ 170 mm 22 mm) (25 mm) 92817000 (31365007)

92817090 (31365097)
Metropol Classic 15



e
Adle

Talis E 71745007 / Logis 71405007 / Metris 31454007 / %M PuraVida 15445007 / 15445407
98133000 95014000

16x2) SW 15 mm 95274000
© e 2 95274400
0 ( 98199000 . 97667000 @
ot 96338000 o\ | (M4x10) \E
92602000 ! SW 2 mm
(20x2,5) 95519000 6338000
94073000 98796000 Metris ©2224000 >
SW 38 mm Logis \
98793000 96338000
96525000 (@ 145 mm)
(M5x20) 95273000
95273400
92730000 EFME PuraVida
95140000 98794000
(M4x20) ;738;1(102)00\ / 98142000
X ’
$8433000 (23x3) 98795000
(30x1,5)

96454000 98790000

Logis 71605007 / %M PuraVida 15665407 / (M5x55)
Metris 31456007 98418000
98133000 (43x3)

o % i

/
95275000

95008000 96338000

/ 98796000 97667000
SW 38
g JZ@ mm (S“\’lj";n?r)n 92666000
Talis E
98793000
@ (D 145 mm)
92730000 / o .
95140000 e, AR
(M4x20) 98400000 | 2
(39x1,5) fo/

96454000 55500000

(M5x55)
15597000 | N\~ 97747000
(22 mm) > l\“g .
& o, & “ °
96338000 . P2
/ 96338000
95519000 96338000
[ (M5x45)  (Metris) o . 5 92224000
13595000 SW 4 mm Logis

16 (25 mm) EHHME PuraVida



Metropol 32545007 / Metropol 74545007

Q@
Ce

96525000 <

95014000 98199000 o

SW15mm  (17x2) 92602000
(20x2,5)
96338000
94073000 98796000
98133000 SW 38 mm 93076000
(16x2) 98793000 Metropol
95008000 (@ 145 mm)

(23x3)

98400000 y
(39x1,5) Rz
98433000 3325§200
(30x1,5)  (M3x55)
93143000
B
Metropol 32565007 96525000 (958:1336)000
X
(M5x20)
Op 93144000
0
0 96338000 /5 7000
94073000/ = 93075000 galeo)
I8 92730000 mm
78133000 ™ o H 98400000 Metropol
(16x2) ‘ (39x1,5) 98793000

¢ D
95140000 ///
SW 4 mm

98796000

95008000

98433000

(30x1,5)

97747000

(M5x45)
SW 4 mm

15593000
(22 mm)

13595000
(25 mm)

-

(D 145 mm)

96454000
(M5x55)

(54x3)

/
96338000
N

93075000
Metropol
17



e
Co

Novus 71045007 / Logis E 71404007
4073000

0p 93243000
0SS _(M5X35
95014000
95008000 (98207000

(16x2,3) 92602000
(

g 9 a
92730000 \\V// /
95140000 ‘ %

98796000

(16x2)

98142000
(23x3)

98400000 S ] 98795000

(30x1,5)
98400000 97667000
(39x1,5) (M4x10)
. 96454000
98790000
96338Q99J 98418000
93024000 (43x3) 96338000
Logis E 9319200
Novus
Novus 71065007 / Logis E 71603007
® 95209000
P ‘ (M5x35)
ﬂ 00
0
94073000
98400000
98133000 98793000
(16x2) (D 145 mm)
97747000 25008000 f
98790000
!“5x8°’ 95140000 08792
© SW 4 mm 8 000
98796000 | \@&_Z @ % @ 150 mm)

(M5x45)

oAt /f (30x1,5) 94454000

13595000 (M5x55) Q
(25 mm) 98418000
(43x3)
/C
96338000
13597000 93192000
(22 mm) Novus

18



19



ansgrone

Hansgrohe - AuestraBe 5 - 9 - D-77761 Schiltach - Telefon +49 (0) 78 36/51-1282 - Telefax +49 (0) 7836/511440
E-Mail: info@hansgrohe.com - Internet: www.hansgrohe.com

07/2018

9.04717.07



	中文
	English

